°
EZalLAEI SH= Ool= o= L —
EEI'——l = AQHEJI‘ Ju!-_ E'I'DIE =8 JE, A E|‘|°=|
=S MdYH/XIE olo]x|
oYy
=
047"4 22 0|= EN AW-6060.
a8 EPEIEEIOHIII , &5t REl =.
M OlR2:
Rtoid arsh %2, = & 2l S2lAE RE0| HHT, AY
.
JZ chels v 2 Y& 22801 2,4 712
AZEPVC AX7E US. ddEtE FE
Ol= Etot 74X H&dt /I%xIE .
AXMoted E2 18 A5t e ZEH
St U HEE EH 33§
=
A+ 25mm |
e ezl |
22 9
Y
|
® 2 = I
I .
—— _ it h;i\
D Y N — =
™~ S | IR |
1 S ﬁﬁ
- L w | - T
Z= g0t
Ed g
FEHS A MA EF 2] A B D H L 5=
N
K0223.150203 HIO[X] A 150 32 M5x20 55,5 184 1000
K0223.200203 IOl X| A 200 32 M5x20 55,5 234 1000
K0223.300203 HIO|X| A 300 32 M5x20 55,5 334 1000
K0223.400203 IOl X| A 400 32 M5x20 55,5 434 1000
K0223.500203 IOl X| A 500 32 M5x20 55,5 534 1000
K0223.150202 A A 150 32 M5x20 55,5 184 1000
K0223.200202 A A 200 32 M5x20 55,5 234 1000
K0223.300202 a4 A 300 32 M5x20 55,5 334 1000
K0223.400202 444 A 400 32 M5x20 55,5 434 1000
K0223.500202 A A 500 32 M5x20 55,5 534 1000

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 11



